Headboard Bracket Assembly Instruction

Parts/Accessory List

. 1

Metal Bracket-A * 2PCS | Metal Bracket-B * 2PCS Connector*2 M10*25 Screw*2PCS

| ) | —

s

Flange Nut * 8PCS M8*40 Screw * 4PCS Washer * 8PCS M8*20 Screw * 4PCS

|

e

Allen Spanner M10*

Spanner * 1PCS Allen Spanner M8* 1PC 1PC

Assembly Steps

Step2:Fix the Metal Bracket-A Step3::Fix the Metal

Step1:Fix the connector with

leg and 1*M10*25 screw, as with 2*M8*20 screws, 2*nut Bracket-B with 2*M8*40
. . . and 2*washer,as shown in the screws, 2*nut and
shown in the image.Here will
need Allen Spanner M10. image.Here will need Allen 2*washer,as shown in the
Spanner M8 and Spanner . image.Here will need Allen

Spanner M8 and Spanner .




